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recalculus Unit 7 Review Answers
.(—22.39,-15.62)

.r=2y13, § = —56.3° or 303.7°
(=7,22)

-39

.138.2°

. perpendicular

. neither

parallel

114.9 N, 49.2°

10.17.11b
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1. ground speed 414.4 mph true course 92.5°

2. —61/3 — 6i
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3.-1
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14. —2048 + 2048V/3i
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5.—128 + 128i

6. 3(cos 70° + i sin 70°)
3(cos160° + i sin 160°)
3(cos 250° + i sin 250°)
3(cos 340° + i sin 340°)

7.2 4 2V3i,—4,2 — 2V/3i

18. -3+ 3i,3—3i

19. (5v2, )

20. (4, m)
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1. in Quadrant Il
2.in Quadrant Il

3. in Quadrant |

24. (V2,—2)

25. (0, -3)

26. (2,2v3)
27.

28.

29.x% +y? =5x
30.r = 5secl
3L.y=(x—-5)?%+3
2.5 4y2=1
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B.x=4t+1,y=t—-2,—-<t<3



